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# BT 4 PR task3_1. py

Acc (N AR
1 import math # 5| A S F AR
2 print("iFMAMER TN 3 RE: ")
3 = MBERE S AT R B0 R BO 5 5 1T
4 a= float(input("iFH A a: "))
5 b= float(input( "#F# A b: "))
6 c = float(input("iFH A c: "))
7 s=4/3xaxbxmath.pi  #{AAFEH ALY Python i 4], 15
8 v=4/3 % axbxcx*math. pi
9 % Ak d U Ko, REES g 0 RORE 28, 3 ROR/NBURZ R IR 3
10 print("x1 = {0:.3f},x2={1:.3f}". format(s,v))
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£ PP & FK task3_2. py

Fr (S AR
1 print("IFHA 3 4 ")
2 £ B A A B A B R A RO e 4 O I BRI 4
3 a = float(input("iFM A a: "))
4 b= float(input("iF# A b: "))
5 c=float(input("HH A c: "))
6 naxNum = a ¥ f8E a &g K{H
7 £ 5 b AT IR WA bR, BB R s R E Sl b
8 if (maxNum<b): # A 1Y B S5 AT 4 g
9 maxNum = b £ I TE AT 6 254 4 K
10 if (naxNum < ¢) :
11 maxNum = ¢
12 print("& KfE&E: {0:.3f}". format(maxNum) ) £ format A% 045 il i ) 45
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# R ¥ Z K task3_3. py

2 O

1 import math # 5 A B R BB B
2 print("IFH A —JC IR IF RN 3 R

8 #M%ﬁ?ﬁqﬁl’fﬁj/\ﬂﬁﬁlﬁ,ff‘??ﬁiﬁh’—ﬁ’”#kﬁﬁﬁéﬁa

4 a = float(input("iFH A a: "))

5 b= float(input("#FHH# A b: "))

6 c = float(input("iFH# A c: "))

7 # HIWE IR —JL IR

8 if(a==0):

9 ﬁrajil 0, RE—JC R

10 print("ZIR RHCARENE, F— 77: ZIRITET)

11 #exit() RBGR Y AR T 18

12 exit(0)

13 tmp=bxb—-4x%axc 2 8 delt

14 £ 1if FIWT T B A AR

15 if(tmp>=10):

16 x1=(-Db+math sqgrt(b*b-4xaxc))/(2xa) £ 3RO O R A SEAR
17 x2=(—-b-math.sqrt(b*b-4xaxc))/(2*a)

18 print("x1 = {0:.3f},x2={1:.3f}". format(xl,x2))
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19 else:
20 print("iZ R IEFTR")
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# PP 4 PR task3_4. py
Fie B R
1 print( "R ETEHBE")
2 grade = float(input( "iF 5 A F 4 B9 55" )
3 £ FIWT Bt ie A AE[0, 100143 Z [H]
4 if(grade < 0 or grade>=100):
5 £ SR, WHR W, A PTG T A A S
6 print( "R ETLRL")
7 exit(0)
8 M iE £ 0y IR PR G
9 if(grade>=90):
10 B RTET 90, "5
11 print("{0} YL SFF R AE (1} " format(grade, "(EF "))
12 elif(grade>=80):
13 print("{0} ARG R Z {1} ". format(grade, " 4F"))
14 elif(grade>=70):
15 print("{0} YK 572 {1}". format(grade, "H15E"))
16 elif(grade>=60):
17 print("{0} AL BT FRE {1} " format(grade, "K 5 "))
18 else:
19 print("{0} A9 AR AE{1}". format(grade, " L")
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# PR F 4 PR task3 5. py
75 " ¥
1 print("FMA =M =FBA9HK ")
2 a= int(input("HFH AL —~FHAIHK"))
3 b= int(input("IFH A E KA AGHK"))
4 c = int(input("IFHAE = KA AK"))
5 #5—A if FIWT RS =MIE
6 if(atb>»candatc>bandct+b>a):
7 29 = AR A1, Ak SR = MR R
8 £ N AE 2 B A =M R AW
9 if(a”2+b”"2==c”2o0ra”“2+c”2==b"2o0orb"2+c"2==a"2):
10 print ("2 HH = HIE")
11 # NIy 1f S M = AP By A W
12 elif(a"2+b"2>»c"2o0ra”2+c”"2>b"2o0orb"2+c"2>a"2):
13 print("iX &N AH=AIE")
14 £ BRI SRR W 2, )R B A = A
15 else:
16 print ("X & ME M = HIE")
17 else:
18 £ R = A8 0 &
19 print("X AR =MHIE")
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# PR 4 PR task3 6. py

Fe ARAR E
1 import re  # 8 AIE N FE A A M
2 print (" HIFEAS")
3 str = input("IFMA G — s EMHFF (a1 5+3):")
4 p = re.compile(r'\\d+ ') # A IR I R 3k U0 42, T 4 s
5 opl = int(p. findall(str)[0]) £ AT B HUR 09 2 — A~ i AL
6 op2 = int(p. findall(str)[1]) £ RAH R HUR 09 25 A~ s A4
7 q=re.compile(r'\Ww+ ") ERE I E S
8 opt = q. findall(str)[0] AR B 1 12 A
9 £ TN 1% 58 SR 2 i A T R S 43 R B
10 if((opt =="'/'or opt =='% 'or opt =="'//") and op2==10 ):
11 print("BRECHE, FEET) SR B B R R, SR IR
12 exit(0)
13 # 8 LB B F M po BB 44 F, M TR 543 R R B (E X
14 po = {
15 "+':opl+op2,"-"':0pl-op2,
16 "% ':opl % op2,'/' :0pl/op2,
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17 """ :opl “op2,' % ':0pl % op2,
18 "//" :opl//op2
19 }
20 38 3 7 ST G get () BRI, A8 S50 opt XTI Y SE(E
21 result = po. get(opt)
22 # Hiy 38 FAE R
23 print('{0}{1}{2} = {3}'. format(opl, opt, op2, result))

AL 4 3-6 1B 4T 4 R AR txt |

3.8 WRIEW

B B 25 4 J2 S5 M AL AR P B T B S5 4, W LATRT AR R I s gk R MLy 295 4 R0 30 9% 25 4
LIRS, PR R T —E SRS 0L T . R AT — AR AT S . R AT
T AT R A0 35 4

3.3.1 while §i§I4
while A% AT

(W46 b4 ]
while (JH¥ 45 MF) :
A
(A4 ]
FEFR LM HOBAAT LR A F B3R« BT while 08 B 0 152 . S 009708 26 2% P07 41 5
True. AT F B4 BRFRIE ; P07 58 5 - FEUCHIE 0B 36 & £F7 . O True. 2kZE40T 1%
WRPk; #50 False, R PHIGTIRERIR JGFRGEHT, TRIRGEHUR ARSI TR FRAE 1) 2 O35 41

‘%{ EE |

(1) while £ # 2 )G M8 5 R £,

(2) 4o BRAEIREAE R AR, W AR — R AL R AT .

() WmRBEREHEZORERRAGEBRE R EH G T QT RFHRE
PR — A5 R A True 89 % ik X, W] 3% 48 2R 45 #5858 4% 2R 3k T 1R 4 2R, BP 48 2R 45 # JE
EAHRIEG QIR T BHRL —HiBIT, Rk Rk, RRBHREFA T L LEHE
#3 &  de F R P




BT 3
Python 7 72 1%

(4) A4 ACIE &) Fo ik K& 6 TOARA A THKGH &,

(5) HEERAR 84 BT A 35 8) L R AT . Ll while #4945 B B A 48 F 89 45 3 .

(6) 2 while #3245 My 0 PEIR R R A — 535 €] . X 5095 6 7T VA AR & while 47
RWMEHFZE. B ER—4T L,

G PR 45 K A B T St 2 AR PR OB B B E . X T while I8 R A5 B T. R T
BRI AT LS G R A

(1) WItR AT A - O B 42 ) 22 e w0 D o LA 0 26 b 31 ) 728 1 B R B Ak

(2) BRI AF . DRI EE AR IAT B 25 AF L — D45 2R True 5 False iR 550,

(3) IEARTEA - 38 W R AE PR 42 AL R ) A0S L3 A R A SR A 1R B0 T 1) A A A A
AT LLIE H 45

B Bt — AT 100 Y8 0, BE 1 16 R 2 0 A8 &L I R Y 3 A 2R Bt
wmr

(1) 1=1

(2) 1i<<=100

(3) i=i+1

FEEE I W — A B n SRR B T E AW 2~n— 1 ZE B PITA S n B A BER
KF o BE TP SR B RIR A 3 AN ER BT

(1) i=2

(2) 1<=n—1

(3) i=i+1

IR = A B R0 LU B 3 A BEZME IR FRI6 A0 b & 18 9 07 B L IS 22
SAAT T8 ] IR ERAA) AL 18— A AT AT A PR 4544

1195 3-7  HARBCRM

Fasma

%5 —> Python 27,8 1000 L fr A 8508 A,
xﬁﬁﬁ%iﬂ

1. &t e

WIS H AT 2T 2 R, Hd — ARG, 5 — D= TR
R Bnes . PEFR AR R WG 3 N EFE R Oi=2; @i<<1000; @i=i+2,
A2 B 1000 P BT A AL . BEIAT — IR AR R — SRR, RInEE s WAURYIE 0. 1G5
RIE— % BMIEA] s=s+1,

2. BRI B

P AN 3-7 fim.

@



